



tre frazioni, decimali, ordine delle operazioni con
parentesi

Nome: _____

Data: _____ Punteggio: _____

$$3\left(\frac{1}{2} + \frac{3}{2}\right) =$$

$$5\left(2,9 - \frac{1}{2}\right) =$$

$$(2 - 5,8) \times \frac{1}{3} =$$

$$\left(4 + \frac{1}{2}\right) \times 5,3 =$$

$$\left(2 - \frac{2}{5}\right) \times 5,8 =$$

$$(2 + 3,1) \times 4,6 =$$

$$5\left(\frac{1}{6} - \frac{1}{2}\right) =$$

$$4\left(\frac{1}{2} - \frac{3}{4}\right) =$$

$$\left(\frac{53}{2} - \frac{33}{2}\right) \div 5 =$$

$$(2 - 3,1) \times 5,8 =$$



Nome: _____

Data: _____ Punteggio: _____

$$3\left(\frac{1}{2} + \frac{3}{2}\right) = 6$$

$$5\left(2,9 - \frac{1}{2}\right) = 12$$

$$(2 - 5,8) \times \frac{1}{3} = \left(-\frac{19}{15}\right)$$

$$\left(4 + \frac{1}{2}\right) \times 5,3 = \frac{477}{20}$$

$$\left(2 - \frac{2}{5}\right) \times 5,8 = \frac{232}{25}$$

$$(2 + 3,1) \times 4,6 = \frac{1173}{50}$$

$$5\left(\frac{1}{6} - \frac{1}{2}\right) = \left(-\frac{5}{3}\right)$$

$$4\left(\frac{1}{2} - \frac{3}{4}\right) = (-1)$$

$$\left(\frac{53}{2} - \frac{33}{2}\right) \div 5 = 2$$

$$(2 - 3,1) \times 5,8 = \left(-\frac{319}{50}\right)$$